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What is the approximate bearing the ship travels on at the start?    

The ship goes to a point and turns and starts on a path with a new bearing.  Approximate  that new bearing in the same way you gave the first bearing.

There is an obvious triangle to be made here.  What would you have to do to find one angle of that triangle?   (Hint:  Find the angle at the place where the ship turns.  Use the facts about parallel lines cut by a transversal.)  

If this is a right triangle, which angle is it that must be 90º?     If that angle is 90º, then how far is the final position of the ship from the starting position of the ship?    (If it is not a right triangle, then we could solve this with methods for solving non-right triangles.  We’ll learn those later in the course.)
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